Supplementary Exercise 13

(The question numbers follow those in the tutorial.)

These questions should be answered making use of the graphs you drew for Tutorial 12.  Question 13.4 corresponds to Question 12.4 , 13.5 to 12.5, and so on.
13.4
e)
Extend your trend line and produce forecasts for the four quarters of 2006 and
add them to your graph and check that they look reasonable.


f)
Calculate the fitted values and the second residuals.  


g)
Calculate the standard deviation of the second residuals and estimate the 
maximum error expected in your forecasts.

13.5
c)
Extend your smoothed trend cycle and use it to calculate the forecasts for the
 four quarters of 2006 and add them to your graph.


d)
What is the maximum likely error in these forecasts?


e)
From the computer output for question 12.5 identify the deseasonalised values
for the four quarters of 2005.

13.6
e)
Extend your trend line and produce forecasts for the next four quarters, 
remembering that the output is from a multiplicative model, and add them to
 your graph.

Answers
13.4
e)
Q1  6285
Q2  10780
Q3  14479
Q4  7702   cars

13.5
c)
2006
 Q1  £158 300
Q2  £177 200  Q3  £178 000
Q4  £190 600
d)
( £3 070

e)
£154 400
£158 300
£160 900
£168 900

13.6
c)
2006
 Q3  £184 100
Q4  £114 200



2007
 Q1  £93 500
Q2  £157 800

PAGE  
1

